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0084 x 525

1. What i —_— nal to 7
28 oos1xtBs Y
10
(a) ﬁ
100
(b} Ty
(o) 8
(d) EE 1
2. (x+ 4)is a factor of which one of the following
axpressions T
(a) x=°—Tx+44
(bl =+ Tx—dd
(€) xo—"Tx—dd
(d) x°+Tx+dd
3 If o and B are the roots of the guadratic
equation 2x? + Bx + k = 0, where k < 0, then
what 18 the masimom value of v + -E- 7
L
{a) 2
(k) -2
e} 8
dy -9
4, Consider the following statements :
i. If a=be with HCF (b, ¢} = 1, then
HCF (e, bd) = HCF (e, d).
2 if a=be wath HCF (b, c} = 1, then
LOCM (a, d) = LOM (g, bd).
Which of the above statements isfare correct ?
{a) 1only
(b 2only
{c} DBothland?®
(d) MNeither 1 nor 2
BLS-S-FDE

(2-A)

What iz the square root of
(03602 + 0T0 + 1

T + 0197
fal 1 ¥
b} 2
(e} 3
d 4

What is the number of digits in 2%7 7
{Given that log,, 2 = 0-301}

(a) 14
(b) 13
e 12
dy 11

If ome root of
(a2 _Ba+ Pxf+@a-Vx+2=0

ig twice the other, then what iz the wvalue
of 'a" 7

w 2
b -2
© 3
@ - %

What is the remainder when the number
(4444)M4 i5 divided by 9 ?

(a}
(b}
(o)
{d)

m =1 &



4.
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0064 % 525 Ao 25
\' 0-081x 484 '

10
99

100
29

el ]
dy 99

{a)

(b}

(x + 4), Freferfian =ol 4 & e oA
12

(a) 2°—Tx+44

(b) x*+Tx—44

{£) x°-Tx-44

() x"+Tu+dd

qfE o 3 p feam ot ox2 4 6x + k=0, 78
k<08 %97 8, @ %+g F1 AT T
TR
{a) 2
(b} -2
© 9
dy -9

Fre=rferfian suat o = ifae .

1. A a=he d HCF(b, o) =1, At
HCF (¢, bd) = HCF (g, d).

2. T ambe § HCF (b, ) =1, M
LCM ia, d) = LCM (¢, hd).

TR FEET T W B TE AR 7
(a) e 1

(b) et 2

(c) 137 22

(dy FAT 1, AE 2

8.

T

(3-A)

2 *
(@30 + 07041 | 019 w winm fewis wwR

225
o
(a) 1
b} 2
{c) 38
(d) 4
2% s o g et B 0
(fem 7o & 86 1og, 2 = 0:300)
{a) 14
{b) 13
{c} 12
{d) 11

afe wfiEm (2’ -fa+ 3 x "+ (Ba-1x+2=0
W W HE g S g 8, A e OHE
L&

2
(a) 3

(b} -

| ee

W =

a] -

S | b=t

o W (44447 w1 9 F i fem @
B, T Srahe W TR 7

{n) 4
b} 6
L 7
(d) 8




J ]:I—-"ll ~h
O |G T el he o , then what ia
Ja+b+ ja—b ;
bx? — 2ax + b equal to (b= 0} 7
a) 0
b} 1
(e} ah
(d) 2ab
10, What is the value of
(443+ 542 + (443 -547° |
4452 443 + 54T = 54T '
fa) 0O
(b} 1
c} 2
dy 3
i P 08
1. If x=t*"7 and y=t'~! t>0,t=1, then
what ia the relation between x and y ?
(a) y =x¥
by xl¥ =:'I..].I'l
(e} xF=y*
dy =F=yl=
BLS-5-FDE

12.

13.

14.

15.

(d4=A)

If A:B=3:4, then what is the value of the

] ( 3A? + 4B
expression | ————— T
| 3A — 4B
414
(ﬂ.]‘ E
43
by - T
&7
{c) EE
(d} Cannot be determined

If A =[x :xis a multiple of 7],
B = {x : xis a multiple of ] and
C = % : x 15 a multiple of 35],
then which one of the following iz a null set ?

(a} (A-BIUC
(b} (A-B)-C
e (ANB)NC
dy (AnB)-C

If :=2+Em+2w, then what ia the value of
x — Bx” + Bx ?

(a) 3
(b) 2
) 1
d} 0

If E=ET:+E and % + ¥ = 26, then what

is the value of xv 7

(a) &

(b 15
(ed 25
(dy 30




W T (20

*= \.|rﬂ+h-l-'1||lﬂ.*-h .
bxl-Zax+ b FFOE T 2 (b= 0) ¢

fa} 0
by 1
(el ab

idy Zab

(443 + 5472 + (4435472

10, FHA TR Y

dgd= 443 + 54T = 547

(a) O
by 1
e} 2

dy 3

1 L
11, IR x=¢t*1 aft y=¢t-1
x o0 & wey &y gowey § 9
{a) % e=x
(B) W =yl

c)] xF=y"

(d) ==yl

BL3-3-FDE

L t=0,t=21,

13.

14.

15.

(5-A)

12,

2 2 3
I A:Bes 4 aieres |3 B o
34 — 4B2
w1 H 7
43
{3]‘ E
43
{b) = TE
47
{E} E_E

(d) e T = wha

A A = lx:x, T T T B,
B ={x:x, &% U 1o 8] afl
C =[x+ x, 35 % 0% 105 B),
At Frfefn § 9 R fom o=y 8 0

(a) (A-BiucC
(b} (A-B)-C
e} ANBINC
d (AnB)-C

TR x=2+2%4+2Y @ P osx’+6x W
qE TR

(a} 3
b} 2
(e} 1
d) ©

afg E=%+~E 3R x +y =268 xy®
W TR ?

(&) &

(b} 15

e} 25
(d) 30




16. What is the solution of the equation
xlogy, 'i:i;-] +logy, 8 = logy, (2+ 89 +x 7
(@) 10
by 3
el 1
) 0
17. If @ and P are the roots of the eguation
x* + px +q = 0, then what is a® + % equal to ?
(a) p*-2g
(b} q*-2p
(e} p*+2q
) qf-q
18. If a®=335+1b? and a =5+ b, then what is
the value of a + b{given that a>0and h=0) 7
(@ 7
(bl 8
(e} 16
{d) 48
19. If 9* 3 = 2187 and 2% 2% - 4% =0, then
what can be the value of (x + ¥) 7
()l 1
(b} 3
e} &
d 7
BLS-5-FDE [6 -

20.

21.

A)

The pair of linear equations kx + 3y + 1 =0
and 2x 4+ v + 3 = 0 intersect each other, if

a) k=6
() k=6
(¢} k=0
d) k=i

The number of prime numbers =* "7y are less
than 100 15 3

{a) 24
(b) 25
(e) 28
dy 27

The cost of a diamond varies directly as the
gquare of its weight. A diamond broke into
four pieces with their weights in the ratio of
1:2:3;:4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond 7T

() 100,000
(bl ¥ 1,40,000
fe) 2 1,60,000
(dy & 1,765,000

In a 100 m race, A runs at a EFEE-ﬂIIr% mfs. If

A gives a start of 4 m to B and &till beats him
by 12 seconds, what is the speed of B ?

la) % m's
(b} % s
(e % m/s
@ 2w




16.

17.

18.

19,

BLS-8-FDE

TR

10 _ %
xlugm = +J.-l:|‘g.m3 _1"}511](2"'3 1+ X
W R TR 7
fa) 10
b) 3

3 1
(d}

T o W p, THEW <% 4 px 4 q=0% 75 §,
o+ p° formd a2

p* - 2q

q" - 2p

(&) p*+2q

(dj

(a)
()

*-q

qE a® =386+ b% M a=5+b @ a+bH
e (R mifFa-odftb=0)?
{a)y 7

by 9

(e} 15

(d) 489

Az g*8¥=2187 W 2% oW _ Moo, W
(x + ) %1 T 91 & HHaT & 7

{a} 1

(b)
el
(d)

=] &

20. T iFa® AHET kx+ 3y +1=0 K

21.

(T-A)

Eu+y+ﬂ=ﬂﬁ-@*ﬁﬁﬁﬁﬂﬂﬁ§,
afz

(a}l k=6

b} k=86

el k=0

(d) k=0

100 8 S 279159 G (prime numbers) i
He ¥

(a) 24

(b} 26

] 26

(dy 27

# 1 UFT TG a9 & @9 & e Ul
giEfaa & & | U B 91 AT H g T AR
THE F T W TN 1:2:3: 4% | TR AR
& e qeg § 2 70,000 F IFAA B W, A

#it =1 wrifires gy = a9
() ¥ 1,00,000
(b) ¥ 1.40,000
fe) ¥ 1,560,000
(d) ¥ 1,765,000

1ﬂ|}miﬁlﬁﬂsﬁ,ﬂ,%wﬂﬁwﬁﬁﬂm

AR AR g A B, 4m W (@A
) & Do uE FaT £ o oA AT
HFEE RN R, A BRI Mo R 7

@) s
() % s
(el % m/s
(d) g m/s



24. If 156 men take 21 days of 8 hours each todo a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if

3 women would do as much work as 2 men 7

fa} 18
(h) 20
o} 25
(dy 30
25. 'What number must be subtracted from both
the numerator and the denominator of the
fraction L g0 that it becomes 2 7
ah 3
(a) 6
by B8
L) o
dy 11
26. A sum of ¥ 8400 was taken as a loan. This is
to be paid in two equal instalments, If the rate
of interest is 10% per annum, compounded
annually, then the value of each instalment
4
(a] F4.200
(bl T 4,480
() ¥ 4,840
(d}y None of the above
BLS-5-FDE

27.

(B=A)

Leela got married 6 years ago. Today her age
] l%ﬁmm her age at the time of her

marriage. Her son’s ago is %times her age,

What 1z the present age of her son ?

fa}] 1year

(b} 2 years
(g} 3 years
{d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days,. In how many dayvs can A alone finish
the work ?

{a) 18 days
by 20 days
(el 24days
(d) 25days

The values of x which asatisfy the eguation
51%% 45" % =26 are

(8) -11
by 0,1
(e} 1,2
&y -1,0

If 5 men ean do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women i

La) T% days
(b} B days

1
el g E dﬂ}"!i
(@ 12 days



BLS-S-FDE

24, Il 8 62 wfafe wm =@ BT 15 wEh vw ww

w W d g1 B e, o o wm o oe u
wfafer = gy 21 i R B 8 @ o=

urirft, afy @ ofd, o mefEt & wm % w
T it #

{a) 18
(b}

20
{cd 25
30

{d)

; ﬁa%%mmmﬁﬁﬁﬁqﬁﬁm
Tmﬁm,?rrﬁws%i‘rm?

{a) 6
(b} 8
ic] 9

d) 11

* 8,400 % vE g aym ar = o & @
warer Tt o e @ 2 | ufE wwely e
1 2t 109 2 = # &t s =9 | T 9w
g frm AR Ry

(a) ¥ 4,200

{b) ¥ 4,480
{e) ¥ 4,840

(d)  I9EE F # W

27.

(8-A)

wten &1 famm 6 ad o gam @y | e TR
oy, Io% faam & g # oang 1%?&

ﬁla’ﬂﬁigiﬂmg,aﬂﬁmgﬁil—ﬂgﬁ%l
T A ] A W T R

(a) 179

(th) 24

(¢) 39

() 4@

A 37T B UE WY W ¥ v @ w5 12 fi i
TEH W TR B, WEiE B 3he 38 wmHE s
a0 fa & 0 wa # | S FI9 0 T AT
FEF i s w27

(a) 18T

) 20 =

() 24 3

() 256 fm

wrfEn 51 E 4 5% = 26 W1 HPR T A
x % AH A

ia)
th)
()
td}
afs 5 st ww wE F 10 R F W owwd #
¥ 12 FhA 3 = w15 B A = g €,

al 5wl o ¢ afd = = = e R b
Pral ol

=
0.1
1.3
-1,0

1
L
) 75 fg
by &fE=
1
[lh" a E ﬁ"_‘r
) 12




a1.

A passenger train departs from Delhi at 6 p.om.
for Mumbai. At 9 p.m., an expresa train,
whoze average speed exceeds that of the
passenger train by 16 km'hour leaves Mumbai
for Delhi. Two trainge meet each other
mid-route, At what time do they meet, given

that the distance between the eilles is
1080 km ?

{al 4 pm,

(bl 2 a.m.

el 12 midnight

id}y 6am.

32. In a class of 49 students, the ratio of girls to
boys is 4 : 3. If 4 girls leave the clags, the ratio
of girls to boye would be
(ay 11:T7
by 8:7
ich B
(dy 9:8

83. If a+b=5 and ab = 6, then what 18 the
value of 8%+ b% ? '

{al 35
{b) 40
) 90
(d}y 135

34. Rajendra bought a mobile with 256% discount
on the selling price. If the mobile eost him
T 4,875, what is the original selling price of
the mobile 7
(a) ¥ 6,300
(b} ¥ 6,400
¢y & 6,500
(d) ¥ 6,600

BLS-5-FDE

45,

a7,

(10=A)

A 225 m long train is running at a speed of
30 kmv/hour, How much time does it take to
cross a man running at 3 kmMhour in the same
direction 7

(a] 40 seconds
(b) 30 seconds
(e) 25 seconds
(d} 15 seconds

"i'l'll].'litl'l. one among the following is the largest 7

@ ¢
(b) %
(e) %
() %

The difference between the simple and the

compound interest on a certain sum of monev
at 4% per annum in 2 years is ¥ 10. What is

the som 7

{a) ¥ 5,000
(bl ¥ 5,000
(el 6,250
(d} T 7,500

Ifa% of a4+ b% of b = 2% of ab, then what
percent of ais b 7

{a) bO%

{by 756%

fe)  100%:

idy  Cannot be determined



31.

34.

BLS-5-FDE

e HE T 6 pom. W REt @ e & fm | ss.
e wElt B e owraym e, o
stem wfy wardt 0@ # 15 kmEw wHE R,
9 pm. T gl & ff & fow =edt @ | 3
teifeat wernl d uwagmt # faed § | 2
Tamieal fea wea fel, 3fz 91 ol & S
1 gl 1080 km B ?
lal 4 p.m.
(h) Zam
fe) 12HEEIE
(d) 6am. 36,
40 Trenfdl & ww wan A, w=fedl 3 S5 W
AT 4: 3 B | 9fe 4 oieleal e o 3 g,
@t wsfat 7 srgwl w1 s T g 2
(a) 11:7
b &8:7
el B:5
(dy G:8
uﬁa+b-5$htab=a,ﬁ1a3+bﬂmmw37‘
B
{a) 35
(b 40
(cy 90
id) 125
e o Tawe Ry W 25% WE O WY UR
T =g | af 394 dEEw T 4,875 H |38
wiiE, A e % YR w0
{a) F 6,300
(b) T 6,400
(¢ ¥6500
(d) ¥ 6,600

(11=A)

905 m Tl UH EWE 30 kA & oofE @
o9 o} | 98 wR A #, W 3 km/AEr i

TRt S mids we ™
T # faraem awg &t 2
{(a) 40 TFE
(b) a0 UEE
{e) 95 HETE
(dy 15 HEUE
e d 2 evhm g == 2 7
(a) %
11
& .53
(el %
10
@ o

v O W 4% Wi 9 g & ewd #, we
T TEghg W W AW T 10 ¥ | vl wn

&

(a) 25,000
(b} ¥ 6,000
() ¥ 6,250
(dj T 7,600

A a ™ a% + bF b= ab F 2% 8, M a T
e s bR 2

(a}) &50%
(b} 75%
(e} 100%

id) Traeren 481 =1 g



39. gﬂ‘ part of the population in o village are
males. If 30% of the males are married, the
percentage of unmarried females in the tolal
population is

2
(a) 205
2
b £
{b) 5
7
(] E'?-E-
a
{d) EEIE

40. Sunil wants to spend ¥ 200 on tweo types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over 7
{a) 25
ib} 28
ey 27
idy 28

41. What is the LOM of %° + 8, x® + 5x + 6 and
¥ g da? 4 g ?

{a) x(x+2P0x+3)(x?_2x44)
h xx-22x-3a2+2x+4)
£) x+2%x+3)ix -2x+4)
() x—27 (x=3) (x% - 2x + 4)

42. The HCF of two expressions p and q is 1. What
is the reciprocal of their LCM 7
(a) p+q
b)) p-gq
e} pg
@ (pg~?

BLS-S-FDE

4,

{12-A}

{a)

12

What 1 —_—
15 the value of 4125
w12
o
2
{h) 1=
']
4
1 1—
{e 5
2
d)y 2=
a

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief iz 8 kmv/hour and that of the
peliceman is 10 kmvhour, then how far will the
thief have to run before he iz overtaken ?

]l 200 m
(hl 300 m
e} 400m
(d} 500 m

Aman and Alok attempted to solve a quadratic
equation. Amsn made a mistake in writing
down the constant term and ended up in roots
{4, 3). Alok made a mistake in writing down
the coefficient of ¥ to pet roots (3, 2). The
correct roots of the equation are

-4 —3
(b} & 1
(] 4,3
dy -=86,-1



a9.

41.

BLS-S-FDE

ﬁﬂhﬁmm%mﬁﬁlwﬁ
0% 79 Befm & @ T= S9Eem 4

wfrarfea afiemat ®1 uftrmm fea 2 2

{a) 20=

W0 e

2
(k) ‘2'3§

1
27 =
(e 5

]
d 29—
(d} 5

e T 200 & wwn ot fendt wowd s
agd B, T g o w7 9 T 10 B
firzredi 1 92 wftmon e T &, R TR W
FE T I A 7

{a) 25
(b) 26
(e 27
(dy 28

:3+E, X +B5x+ B AN x° +4x° +4x W
LOM®N 8 7

(a) 2(x+2)%(x+3)(x*-2x+4)
b) xx-2PE-3D02+2x+4)
() (x+2°%(x+8)(x?-2x+4)
() (x-2P(x-3(x%-2x+4)

2 ==t p W g1 HCF, 1} | 39% LCM &
e TR 7

(a) p+gq

(k) p—-q

e} pq

@) (pg?

43,

(13-A)

JEF]

W OAH TR 7
125

(a)

—

(h)

[

[

()

e e oijea dnjd

(d)

=]

weh ol 3 o =R W 100 m W g0 # fREE
fomar | o= Rt 3 e sen gE B, A oEn
i wort = | =g | a8 lmsra B ol
feraret 6 MR 10 koY B, T IS W4 H S
| =t Beat g1 W g 2

{a) 200m
by 300m
{e) 400 m

d}y 500m

WA #HT A 4 U e s W
H1 T Tg= T | 3 2 g ug fored wom
medt = 8 3 0 (4, 3 e | e A ox
=1 o fored wwe e W S s OE (3, 2)
TRre | weR & Ofl g 2

(a) =4, =3
by 6 1
€ 4, 3
[dy -6, -1




46. Consider the following statements :
1

47.

BLS-5-FDE

Of two consecutive integers, one is even,

Square of an odd integer is of the form
Bo+ 1.

Which of the ebove statements is/are correct 7

{a) 1only

{b) 2aonly

(¢} Bothland?2

{d) Neither 1 nor 2

z

The system of eguations 2x +4y=8 and
dx + By =8 15

(a) Consistent with a unique solution

(b} Consistent with
solutions
Inconsistent

None of the above

infinitely many

]
(d)

P! _1)isa multiple of p, if N is prime to p
and pisa

ta)  Prime number

(b} Rational number

(e} Raeal nu:ml:ler

(d) Composite number

The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference hetwean
the squares of these two numbers 7

(a} 1024
by 1258
(c) 1536
dy 1640

26 kg of alloy X iz mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X ia in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
mixture ?
(ay 1:%
by 2:3
el 3:5
d) T:11

al.

&3,

(14-A)

The mean of 5 numbers iz 15. If one more
number i3 included, the mean of the
6 numbers becomes 17. What is the included
number ?

(a) 24
(b 25
(e} 28
(d) 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be B0 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

{a) 70
(b} 86
(e} B0
(d) &0

Consider the following distribution :

Class Freguency
0-20 17
20— 40 28
40 - 60 32
80 — 8O f
80 — 100 19

If the mean of the above distribution 18 50,
what 15 the velue of 7

{(a) 24
(b) 34
{e) 56
{d) 98



4.

47.

48.
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i et ot faam Hifan -

1. E FEE quiE § H s e

2 TR lE eI F an+ 1H FTH
oy wedt & |

I FE § @ wAaa aE e 7

(a) a1

(b) Had 2
I : | '.i'ﬁ'.l' (3]

iy LwAn & Himi

() AdLAH 2

T g 2+ dy = 63 dx + By =8
(a) W AfgHE g & =g w7 #

(b T 3% well & @18 97d B

(c) 3R

(d) Iodw H & i

o T (NP pE, o N, p & s
gl p2um

(a) =AY HEN

(b) i e

(¢} TRAlE® HE

(d) VTG HE

B HEEE W I 1: 5 F 3R I e
320 & | 9 & AEma % @ & ¥ W o
4T # 7

(a) 1024

(b} 1256

(c) 1536

(d) 1640

25 kg Tomamg X 1 125 kg figemg v % w19
Tt Form | af fawarg XA i efw Om
(#) ot HrEn w1 e 128 iR g v A
d s dm i o & ST 2. 3%, TR
Tz & i 7R TW W ST TR
() 1:2

b 2:3

ey 3:5

(d 7:11

al.

(15-A)

5 el w1 Arey 15 # | 3% T wR T
St =me, A ¢ HeEel = Amer 17 @ W #
it 7 dEm R 7

(a) 24
() 25
(el 26

= .

idy Z5

et fawm d so0 Feniat g wra fen o
i w1 HEd 60 F | e = % 100 RenfEy
T ] W1 A 80 ST R AW el o &
100 Fenfdai & of=i = af|g 50 9@ TE |
M T2 100 FenfeE & == = sitme e g e

{a) 70

(b} &5

c) 60

(d) 50

a7 gt

0—-20 17
20— 40 28
40 — B0 32
60— &0 f
80 - 100 18

af2 Iwdes we = e 50 ®, W £ W AW T
22

(a) 24

(b) 34

e 56

(d) 96
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In a pie diagram, there are four slices with
angles 150°, 90°, 60° and 60°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In
the new pie diagram

{a)  The largest slice hag angle 150"

(b)  The smallest sliee has angle 70"

(e}  The largest slice has angle 180°

{(d] The smallest slice has angle 80"

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and
220 respectively, then the mode of the data is

it

Consider the following frequency distribution :

x | Frequency | Cumnlative frequency
1 8 8
2 10 18
4 h 29
4 fy 45

{a)
(b
fch
(d)

120
220
280
370

What are the values of f, and £, respectively ?

et a, b, e, d, &, f, ¢ be consecutive even
numbera and j, k [, m, n be consecutive odd
numbers. What is the average of all the
numbers 7

dia+ml
-
{5 +Td)
4
{a+Bb+m+n)
4
None of the above

(=)

(b}

{c}
(d)

An individual purchases three gualities of
pencils. The relevant data is given below

Price per Money
pencil {in ) | spent (in ¥)
: a0

B 150 | x

C 200 20

Quality

A 1-0d)

It is known that the average price per pencil is
¥ 1:26, What is the value of x 7

(al

T 10

{a) 10and17
(by 17 and 10
fe¢d 11 and 16
{(d) 16and11

If D 15 the number of degrees and R is the
number of radians in an angle §, then which
one of the following is correct 7

{a) =D=130R
(hy =D =%90R
e} =R=180D
{id] =i =90D

What is the minimum value of

GtanfO+dcotdn?

(b) ¥ 30
fcl T 40
idy T a0

(16-A)

ta) 6
(by 9
) 12
(d) 18



5d.

TF FARE (pie diagram) F T WET F WM
1607, 50°, 60° 3 60° ¥ | fam M gwitw ¥ eo-
HIW G 9T R W U ) g =
T # | W e o

(@) TEH W T B 150°

(h) TEE B T e o700 #

(c) TEH =2 WO H R 1800 R

(d) TED B WM W w00 B

55, UF sEufhE ¥79 °, o w7 w5 uney 5 wifeE

@ 270 9 220 ¥, @ siwg] o Ao w9 g 7

58. Frfafas anEmm b9 w fa=w Fifa

(a}
(k)
(c)
(d)

120
220
280
470

x | SHETEE T AR
1 8 8
2 10 18
3 fy 29
4 | f 45

f, 3% £, % 7w e Y

a87.

HH AT a, b, ¢, d, e, f, g WA @9 den §
3 j, k, {, m, n F0TE frm gemd € o
HETHT o wrey #ar & ¢
d(a+n)
[
(B + Td)
e
(A +h-+m+n

(a)

(b}

el
4
(dy IvdE # 4 =l

ws =i W wEn & e wdem R ) dEg
sy A9 Ry E -

s i’g ?ﬁn N ?’3 3%
A 100 &l
B 150 x
C 2400 20

ur wia e o e @ aloa gem ¢ 106
Bl xwmamaEn Ry

{a) 10317
by 17 3 10
¢) 11318
d 16311

aft frd wm @ §, D FwERl i 99 R iR
&1 wEm &, 7 Fnafefa § 8 $9a gea w6
g2

(el nD=180R
(b} nD=90R
() nR=180D
(d) =R =90D

6 tan® @ + 4 cot® 0 HeTAT HH T E ?

{a) T 10
(bl = 30
¢) =40
dy T AD
BLS-5-FDE

(17—4)

(a) &
by 9
{c} 12
dy 13




. 2z tan# . 45 — gint
6l. If xsinBesycosd= m,t’haﬂw’haﬂﬂ 85. Whatizs =2 A Emdﬁﬂquglm?

cos® A — sin® A

4z% (x* + v*) agual to ?

(a) (x4 pi) {a) cos* A_gin®A
: 3
b -y (b} cozA—sginA
) =3P
R e w2
d 2

62, If cos O; + cos B, + cos 8, = &, then what is

gin f, +8in B, + 3in ual to 7
1 % 9 & 66, If Tein®x +3cos?x=4, 0<x<00% then

(ay 0O whal is the value of tanx 7
by 1 (a) 2
(e) 2 h 1
d) 3 i E
2
-
88. What is the value of 8 which satisfies the Ja

equation cos 8 +tand=1 7

fa) O°

by 80° 67. An aeroplane flying at a height of 300 m above
i g the ground passes vertically above another
C

plane at an instant when the angles of
d) &0° elevation of the two planes from the same
point on the ground are 80° and 45°
respectively. What is the height of the lower

84. What is the value of plane from the ground 7
gin x J L. 1 ¥ {a} 10043m
l+omax 1= X
' 100
(@) 2 ] T m
b 242
(c) B0+3m
e) +Ztanx
{d} 0 (d} lﬁuf-u'ﬁ-l'- 1)m

BLS-S-FCE (18=-A)




61.

2z tanb

ufz :mnﬂ-:ycm;Eb:m R, @
dz” (=% 4 y*) Towes W R 7

(a)  (x* 4 yH?

(B) G -y

(c) (ed—y3®

(d) (2422

R cos 6, + cos B, + cos B = 3 2,

@l ain 8, + sin 8, + sin 6, e TR 2
{a} 0

(b} 1

(&) 2

d) 3

6 T FE W BN cos § + tan 0 = 1 F
e FA R

(a) ©°
(h) 80°
(o) 45°
) 60 L
64. sin x1||]1+-:1x:|;x+1us:-ax FHAETR?
o) 2
b) 242
(&) +2tanx
d o
ELS-5-FDE

4 . 4
g5, 05 A—sin A po e d

a87.

(18=A)

ws® A — sin® A
{(a) cos®A-sin‘A
{(b) cosA-sinA
{0 1

d) 2

ﬂﬁ?mﬂx+ﬂnmzx=¢,ﬂﬂxﬁﬂﬂ°%,ﬁ
tan x %1 A &1 & 2

(al
(b

(e

(d)

s olm ~ &

UH TS WETd, W 9T ¥ 300 m T e W
3 T &, el av o o o o EE H
FHETE F Y AT § | I oW O T
#i fag & 21 gard s ¥ IEe wh e
60 F 45° % | = e T WA B UG H
gy

{a) 10043 m
100
b o R
(b} ﬁm
() 5043m
(d) 150(+3+1)m




HFrxspcosb+benbandyvy=asinf—-bceosf,
then whatis z° + ¥* equal to 7

(a} Zab
by a+bh
fe) a*+b®
(dy a?-bt
69. From the top of a building 30 m high, the
angles of depression of the top and the bottom
of a tree are 30° and 457 respectively. What is
the height of the tres 7
(a) 3043 m
(b) 80-3043m
fe) 80+3048m
(d} 60+30+3m
T0. 'Which one of the following triples does mod
represent the sides of a triangle 7
(a} (3,4,5)
thy (4,7, 10
(e} 13,6,8)
(d) 12,3, 6)
T1. If the perimeter of a rectangle is 10 ¢m and
the area is 4 em?, then its length is
{a) 6cm
(hY Gem
fe}  4Bem
(d) dem
BLS-S-FDE

T2,

73,

V.

Th.

(20-A)

The angles of a triangle are in the ratio
2:4: 3. The smallest angle of the triangle is .

ta} 20°
(b}  40°
e} &O°
d) &0°

A ball of radius 1 ¢m is put into a eylindrical
pipe 2o that it fits inside the pipe. If the length
of the pipeis 14 m, what is the surface ares of
the pipe ?

(al 2200 square cm
(b} 4400 sguare em
e}  BBOO square cm
(dl 17600 sguare cm

The areas of two cireular fields are in the ratio
16 : 49. If the radius of the bigger field 15 14 m,
then what is the radius of the smaller field ?

(a) 4m
(b) Bm
{e) Om
(d] 10m

Let ABCD be a rectangle. Let P, @, R, 3 be the
mid-points of asides AB, BC, CD, DA
respectively, Then the quadrilateral POQRS 15

a
(a) Square

{b)  Rectangle, but need not be a sguare
(e} Rhombus, but nead not be a square

(d} Parallelogram, but need not

rhombus

be =a



(11,8

69,

T0.

Tl

BLS-5-FDE

A% x=acosB+bsing 3
v=agmB-bosd ‘E,ﬁ'rthﬁm#m
7

{a) 2ab
thy a+h
a® + b*

a® —h*

{c)
{di

ot 00 m 51 v mawE F 9fd @ o gu w
W i 7 % EAEA S HEE: 300 3T 450
(AR

{a) 85043 m
b) 90-30J8m
{e) B0+3043m

{d) B0+3043m

FrfafEa @ # wmw GF o w6t et
] FF A g 7

{a)
{b)

(3, 4, 5)
(4,7, 100
{e) (3,86,8)

(dy (2,3,86)

aft v e = 9RWY 10 em 3R SEEA

4 m:ugﬁ, T I T A 7
(&)
(b}
te}
(d)

G cm
b em
46 em

i cm

72. et Bgm & =i w1 U 2:4: 3% | 50

4.

Th.

{21-A)

Brgs 1w Ster = #
ml:l
40°

()
()
ey BO°

d} 60"

frelt doTeR TET § 1 em B Gl TR AR
=it & W gt it o fee g et # ) 9l
IT§q it T 14 m ¥, 9 TET H TS G
fram & 7

(a) 22001 em
(b)

(¢} 8B00 T em

4400 =1 em

id) 17600 FT em

aft v @ & B 14 m B, A
Fenwmeo

(a)
()
(e} 9m
dy 10m

dm

Bm

= wfifi ABCD U aem & | 3fE yeet AB,
BC, CD, DA % weafirg %99 P, Q, R, 58, &

=97 PQra TR 7

(a) ol

(b) atrad, foreg =t E Streae
(c) TEgdE, g & A smawEs

(d) FH Agd, T FeEmE 8 e
Ll
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Let P, @, R be the mid-pointa of sides AB, BC,
CaA respectively of a triangle ABC. If the area
of the triangle ABC is 6 aguare units, then the
area of the triangle PQH ia

(o) — square unita

3

F
L

i)
22

gquare anits

B sopuars units

L

{d) 1 sguare unit

If each of the dimensions of a rectangle is

incrensed by 200%, the area ig inereased by
Ca}  S00%
(b 400K
fch  B00%

(d) BOO%:

Thres circles each of radivs 35 em (ouch one
another, The area subtended between them

13
fa) 6(yIn-2) square units

(b} 6(2n—+8) sguare units

(e % (24/8 — ) square units

(d) T—; (43 —7) square units

78,

Bl.

(22-A)

The area of a regular hexagon of side ‘a’ is
equal to

{a) ’f a® square units

(h) E—Eﬁ a? sguare units
I ’

(il 3 a* square units

id} LE] a? square units

2

ABCDEF is a regular polygon. Two poles at C
and [V gre standing wvertically and subtend
angles of elevation 30° and 60° at A
respectively. What is the ratio of the height of
the pole at C to that of the pole at D 7

{a) 1:1
(b) 1:243
() 243 :1
d) 2:43

Twa parallel chords of a circle whose diameter
is 13 cm are respectively 5 em and 12 ¢m in
length. If both the chords are on the same gide
of the diameter, then the distance between

these chords 15
(a) G:5em
(b) Gem

(¢} Fbem
(d} 3cm




76. wE i BRet Bm ABc B el AB, B,

T8,

BLS-S-FDE

CA % meafig @ P, Q R ¥ | af Bryw
ABC 1 83%e 63 355 &, @ fiq= pQR
gathet R R 9

(a) gEFHiFIf
5

(k) o5 Eulon:]

{c) gﬂﬁﬁmﬁ

() 1 T

Ty Tl amEm & welE e # A w 200%
=71 o =mu, o Sewe TR =g S 2

(al 300%

(bl 400%
el  600%
(dl B800%

77 gm, T & v @ fisn 35 em B,
THAE W T w0 8 | T A smim
e fmer & 7

6(JIn-2) o1 7518
6(2n—+3 ) 358

(a}

(b}

te) %{EJE-:) a1 T

(d) %tﬁ—miﬁs‘-ﬂi

79. UF UW WA %1 dEwe, famdl wen w R,

81,

(23_A]

foprerh ar & 7

(a) %aﬁaﬁﬁiﬁ
(b) %sﬂaﬂﬁrﬁ
(o) %aiﬂﬂﬁmﬁ
(d) gaﬁaﬁﬁﬁ

ABCDEF U% 77 g9 # | CA9 DY &) &%
Figy @8 §, 9 A W wE: 30° 3 600 %
T W sfe w@ § | o w =R wh A
Fa1 3 D W w2 @Y ) S W e
Be

(a) 1:1
() 1:243
(e) 243 :1

(dy 2:43

uF g9, famw =W 13 em 8, 1 T @AW
A &) wreamd SR 5 cm 3 12em B | TR
BT ot e & s @ ae @, o5 et

% e o gl foreelt @ 7
{a) 6'5em

(b} Gem

(e} 35em

(d} Scm



If the radius of a right circular cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ¥

(a) p°
by 2p
z
B
el 100
.
id) ]:{E lﬂﬂ]

A copper wire when bent in the form of a
equare encloses an area of 121 em® If the
zame wire is bent in the form of a circle, it
encloses an area equal to

fay 121 em®
(b} 144 em?
(€) 154 em?®
() 168 em?

ABC is a triangle and D is a point on the side

BC. If BC=12¢m, BD=%9cm and
A2 ADC = 2 BAC, then the lemgth of AC is
equal to

in}] Hem

(bt Gecm

(e} Bem

id) Hem

If the surface area of a sphere is reduced to
one-pinth of the area, its radius reduces to

{g) One-fourth
)  One-third
gl One-fifth
id) One-ninth
ELS-5-FDE

B6.

(24 -A})

In a traperium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
What iz the ratio of OA to OC egual to 7

{a) Ratio of OB to OD
(b) Ratio of BC to CI
(e}  Ratio of AD to AB
id} Ratio of AC to BD

lee-cream, completely filled in a cylinder of
digmeter 36 cm and height 32 cm, i& (o be
served by completely filling  identical
disposable cones of diameter 4 ¢m and height
7 ¢m. The maximum number of persons that

can be served in this way is
(a) B850

(b} 1000

(e} 1060

(d) 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(m) 31'25%
(by 32-20%
{c} 33-25%
{d) 34-25%



82. uf2 wF wEae v 6 e # afy fay fer

B,

BL35-5-FDE

Tt fire p W & T, o W % e o

T it gfy @t 2 2
fa) p°
(b) 2p?

{d) 'z+—"—
p[ lﬂﬂ)

of 7% = wh a8 & 9 & S5 § Orgr =@ i,
at 5EE 121 em® S5 vimg 2 & | af
AR W UH 9 F FT T A I E, A WS

o TiEg Eawa e g e
(a) 121 cm?
(b) 144 em®
(€ 154 cm*
(d) 168 cm®

ABC T P R} st yw BC W uw fig
D& 1|3 BC =12 em, BD = 9 em 3N
£ ADC = 2 BAC R, 71 AC ® wrvamg == #nft 7

(a} bHem
(bl  fem

¢)  &om

{d)

ofy freft et w1 ogE e we
% w1 el faem B owmn &, @
T et w2 ot 2

(a) TE-EIETE
(b) o
() U w qieEl e
(d) TR o AT faeE

B.om

ECED
T

86, TH WUeE (i) ABCD #, AB 3R CD

87.

(25-A)

ann § ¥R fasel wwgm W i o m W
% 043 OC = I farmd wE & o

(a) OB 30D %1 3yME
(hy BC 3R CD w1 2q9E
(¢} AD 3T AR =1 M

(d) AC 3R BD ¥ 3w

UF "o (fafeFst) %1 =W 85 em 30 =T
32 em B, S wEEAT B @ yU B B | Im
MEEhE IN i HEd AEE 39 JUE
A W W Tt a8, feen s
4 cm ¥ F9E 7 om B | AwEl AR
st wem @ 2, Ford 9 wwn sngehig

Gricciie i
{a} 950

(b} 1000

el 1050
id} 1100

wh g% W o wed o GwE awd ofdy 4
15% 1 90 88 | 99 % fmww # Reht ofs
wilt ¢

(a) 31-26%
(h) 3%26%
(e} A3-25%

d) 8425%



BLS-5-FDE

ABCD is a rectangle. The diagonals AC and
BD intersect at 0. If AR = 32 em and
ATy = 24 cm, then whal is OD egual Lo 7

ia) 22Zcm
(k) 20 cm
fe) 18cm
{d) 16cm

A field is divided into four regions as shown in
the given figure. What ia the area of the field
in square metres ?

3 m

(a)

(b)

(el

(d)

#1.

o2,

(26-A)

In the figure given below, D is the diametar of
pach circle. What is the diameter of the shaded
cirele 7

(a) DiJ2-1)
by Di{2+1
(¢) Di2+2)
(d) Di2=+2)

In the figure given below, AC is parallel to ED
and AR = DE = § cm and BC = T em. What iz
the area ABDE : area BDE : area BCD equal
to T

E b em (B]
A 5em B 7 cm C
{a) 10:5:7
(b) 8:4:7
fe) 211:2
(d) B:4:5



89. ABCD W% wim # | fawol AC oft BD uwgEifer. R A i A, wWm gmwm mm
H OW wed # | aff AB = 32 em 3k ST g =1 = 4 7
AD = 24 em B, 1 OD fire womm & 2

(a) 22em
B} 20cm
(c) 18 em

id} 18 cm

(a) DiJ2-1)
80. V& @ (Fez) w1 = dn § ot o

R S Ao k& by DivZ+1)

(Free) w1 dwe & e o fm & 0
e) DiJ2+2)
2 m 2m . d) Diz-42)
1
N ¥
2m
3m |9 ¥ & nd sl d, AC 3 ED TR &, o

3m AB=DE=Fcm 70 BC=7cm ¥ |
" , #9%¢ ABDE : 9% BDE : 89%& BCOD
fomrs w2 9
E 5em D
(a) E+§~.I"E_i
M Bocm B T em C
(b3 E+%u@
@) 10:6:7
(e) E+%1lrﬁ by B:4:7
(e 2:1:2
d) T+ 242 (d) B:4:5

BLS-5-FOE (27 =A)




83. In the figure given below, PQRS is a|86.
parallelogram. PA bisects angle P and SA
bisects angle 5. What iz angle PAS equal to 7

L/

(a) 60"
(b) 75°
(€} -D0°
(dy 1007

94, In the figure given below, £ A = 80° and
2 ABC = 60°, BD and CD bisect angles B and
C respectively. What are the values of x and ¥
respectively 7

A

{a) 10 and 130
{(b) 10 and 125
(el 20 and 130

(d) 20and 125

BLS-S-FDE (2B-A)

In the figure given below, PQR iz a
non-isosceles  right-angled triangle, right
angled at @. If LM and QT are parslle]l and
QT = PT, then what is ~ RLM equal to 7

P
i’y
M

Q f R
(a) < PQT
(b} & LEM
e} < EML
{(d «QPT

In the figure given below, PQ is parallel to RS
and PR iz parallel to @S. If ~# LPR = 35° and
< UST = 70°, then what is £ MPG equal to 7

() 55°
(b} 7O°
e} 75"
(dy 80°



93. & wé gl #, PORS wF wAwn wpdw|es. A @ sl H, PR um fwiEE wEEw
B | PAHM P aul SA ®iW S W Wi By 8, fomd w1 @ mowiy & ) AR LM ek

Fl B | 1 pas ed ek o QT THIK § @9 QT = PT &, &t .~ RLM Frers
TR Y
P Q P
& / T
g,/-f M
5 R
Q i B

(b} TH° ib) «LEM
(e} 90° (e) £ RML
() 100° W <QFT

o6, H & 1 amE d, pg 3 RS T # AW
o4, ¥ & T WM #, sA -8 IR PR 3 Qs wer # | aff 2 LPR = 35° 3ilt
£ABC=60°% | BD 3t CD %5 Fm B aity £ UST =T0° 8, @ 2 MPQ Feeh s 2 7

W C W Gatam e # | xal v F Aw

o e E oo
A
:',III
En-

B C

fa) 103W 130

(b) 103 125 al 56
by 70°

(e} 20 3H 130 E ; ?2
E { =3

(d) 20N 125 W Bo°

BLS-5-FDE (28-A)
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97. In the figure given below, ABC is a friangle

with AB = BC and D ig an interior point of the
triangle ABC such that » DAC = £ DCA,

B

A C

Consider the following statements :
1.  Triangle ADC is an isosceles triangle.
2. D is the centroid of the triangle ABC.

3. Triangle ABD is congruent to the
triangle CBD.

Which of the above statements are correct ?

(el 1andZ2only

(b) 2 and3only

(¢} 1and3only

(d) 1,%2and3

In the figure given below, M is the

mid-point of AB and ~ DAB = £ CBA and
£ AMC = 2 BMD. Then the triangle ADM is
congruent to the trizngle BCM by

C D
A M B
{a) BASrule
(b} 858 rule
ic) ABA rule
(d)  AAA rule

8.

1040,

(30-A)

ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC,

Consider the following statements :

1. Triangles ADX and BAY are congruent.
2. < DXA = 2 AYB.

3. DX is inclined at an angle 60° with AY,

4. DXis not perpendicular to AY.

Which of the above statementa are correct ?

ta) 2,3 and 4 only
(b} 1,2and4only
{e) 1,3 anddonly
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
two consecutive kilometre-stones on  the
opposite sides of the acroplane are ohaerved to
be o and f. The height of the aeroplane above
the road ia

P i B s LW

tan o tan p

b _—
! tan a +tanfi

cot o cot [

e cob o+ oot B

cot o+ oot B
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